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»K¼V½­¾�¿�À>Á9Â"ÃfÄ�Å5Æ9Ç�Â�È�É�Ê
F (t) = 0 Ë�ÌoÍ t 6 0 Î F (t) = 1 Ë�ÌPÍ t > 1 Ï�Ð
Í Ã�À>Á#Ê Ë Á Î�ÍOÌ Ê [0, 1] F (t) = at2 + bt + c Ï¿®Ñ�Ò Í É5È�É#Ê F

Ç{Ñ�É#Ê�Ó5Â@Æ Ë Â�Ô-ÕgÀ7Â@Ó9Ä ÍJÖ Õ Í À"Ñ�Á-Ò9× Í@Ë ÄØÕ�Â Ì Ò]Ñ{Ù�ÕRÊ Ë Â
Ú Ë Â c = 0
È
a + b = 1

È
a > −1 Î b > 0 Ï

»K¼V½�Û}Ü³Ý Ë ÑJÙKÑ ËJÖ:Î Þ È�É#Ê FX

Ç Í Ù�× Í Ô Ö ÑJÅ9ß Î
• FX Þ Ê5Ô7Õ ÖLÎ Ê5Ç ÍJÌ Ê Þ9à ß-Ê5È�ÕRÑ�Á Ö�Í ß"Á9Â Þ Ê5Å ÌCÎ s 6 t

È�Õ\Ñ
FX (s) 6 FX(t) á

• limt→∞ FX(t) = 1
È
limt→−∞ FX(t) = 0 á

•
¿¹Ñ#Ò Í É7È�É�Ê FX Þ Ê5Ô7Õ�ÃfÀ Í ÙKÑJÔ-ÕgÀ>Ñ Ö:Ö:Î ÊYß Î�à Ú#× Í]ÏYâ ÑYÁ ÖfÍ ß-Á9Â lims→t+ FX (s) = F (t) Ï

»K¼V½�Û�Û Ð�Î Ê-ß-ã Ω = [0, 1] × [0, 1]
Ó-ä Ë Á Î Ê�ÒOÙ Í@Ë À Í ÕRÊ5ÇåÁYÇ Î�Í À à�Þ Ê ËOÖ ÑJÔ-Õ ÍRÞ7ÖLÎ Ê{À>Ñ#Á"×nÑ�É#Ñ Ö�à@ÏYÐ)Î Ê"ß-ã X(ω)

Ó"ä Ë Á Î ÊÑ Ë�Ì Ê\Ú#×nÑJÅ5ß Î�à ω ∈ Ω
Ñ Ë<Ö�ÍsÞ Ó ÌCÎ É5Ô>Á#Ê Þ ÒJÀ Í ÙKä Ë Á Î Ù�ÒOÙ Í@Ë À Í ß Î Ê Ï ¿®Ñ ÌCÎ ß-Á FX Ï

»K¼V½�ÛVæl¿¹Ñ�Ò Í É5È�É#Ê Î Ô7Õ ÖLÎ Ê Þ9à©Ë Ù Î ÊYÀ>ç#É Ö Ê)Á9Ç Î Ê Ö:Ö Ê Ì Ñ�Ô9ÑJÙKÊ X
È
X ′
ÈKÒJÕRçJÀ"Ê�Ç ÍsÞ9à Õ\Ê Ö Ô Í ÇåÀ>Ñ�Á-Ò�× Í]Ë@Ïèâ Ñ{Á Ö�Í ß-Á9Â

µX = µX′

»K¼V½�Û}é�¿¹Ñ�Ò Í É5ÈêÉ#Ê Ë Â�Ô7ÕgÀ7Â@Ó5Ä ÍOÖ Õ Í FX Þ Ê5Ô7Õëß Î�à Ú#× Í Ù
Ã�Ä Ö Ò@ß Î Ê t
Ù�ÕRÊ Ë Â Î ÕgÂ Ì Ò]Ñ{Ù�ÕRÊ Ë Â�È�Ú Ë Â PX({t}) = 0 Ï

»K¼V½�Û�ìµíQÂ�Ò Í É5ÈêÉ#Ê
À>Ñ�Á-Ò�× Í]Ë Â
Ú�Ê"ÑOÇYÊ9ÕgÀ7Â@ß"Á Ö Â Î Ù�Â�Ò9× Í@ËJÖLÎ ß"Á9Â<Ç ÍRÞ9à Ù�× Í Ô Ö Ñ�Å9Æ�Ó5À Í ÒOÄ
Ã Í Ç Î ä-ß Î Õ\Ñ�Á ÖfÍ ß-Á9Â
P(X > t + s|X > t) = P(X > s),

Ú Ë Á Î Ê�Ù
Ã�À>Á9Â"Ã Í@Ë ÒJÄ©À"Ñ�Á-Ò9× Í@Ë ÄpÚ]Ê-ÑJÇ{Ê9Õ�À7Â@ß-Á Ö Ê\Ú]Ñ s, t ∈ N
È�Ù
ÃfÀ>Á5Â"Ã Í@Ë ÒJÄ±Ù�Â�Ò9× Í@ËJÖLÎ ß"Á#Ê\Ú�Ñ s, t ∈ R+ Ï
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α Ï
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